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QUESTION 1

What is the highest proportion of blocked area in the first Fresnel zone to maintain a stable communication link in
outdoor long-distance point-to-point WLAN communication? 

A. 0.2 

B. 0.4 

C. 0.5 

D. 0.6 

Correct Answer: B 

 

QUESTION 2

When dual-link hot backup is enabled, the administrator enables the dual-link backup function, but the heartbeat interval
and number of times are not modified. By default, the time when the AP detects the primary link timeout for the active/
standby switchover is? 

A. 25 seconds 

B. 50 seconds 

C. 75 seconds 

D. 150 seconds 

Correct Answer: C 

 

QUESTION 3

Smart roaming ensures that each STA can associate with the AP nearest to it. It implements load balance among APs. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

Which of the following formulas about the Earth curvature is TRUE? 
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A. (a) 

B. (b) 

C. (c) 

D. (d) 

Correct Answer: A 

 

QUESTION 5

Regarding the processing of the WLAN dual-system hot standby to the server, the following statement is correct? 

A. VRRP hot standby scenario, the active and standby ACs can advertise VIP/VMAC to the server. Only one device
uses VIP to interact with the server. 

B. In a load balancing scenario, only one AC interacts with the server. 

C. VRRP hot standby scenario, the active and standby ACs can send VIP/VMAC to the server, and both devices use
VIP to interact with the server. 

Correct Answer: A 
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